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Matrix Test - I 

1. If [𝑥 2 0] [
5

−1
𝑥

] =  [3 1] [
−2
𝑥

], then the value of 𝑥 is  

a. −1 

b. 0 

c. 1 

d. 2 

2. Find the matrix 𝐴2 , where 𝐴 = [𝑎𝑖𝑗] is a 2 × 2 matrix whose 

elements are given by 𝑎𝑖𝑗 = 𝑚𝑎𝑥𝑖𝑚𝑢𝑚(𝑖, 𝑗) − 𝑚𝑖𝑛𝑖𝑚𝑢𝑚(𝑖, 𝑗)  

a. [
0 0
0 0

] 

b. [
0 1
1 0

] 

c. [
1 0
0 1

] 

d. [
1 1
1 1

] 

3. If 𝑥 [
1
2

] + 𝑦 [
2
5

] = [
4
9

], then 

a. 𝑥 = 1, 𝑦 = 2 

b. 𝑥 = 2, 𝑦 = 1 

c. 𝑥 = 1, 𝑦 = −1 

d. 𝑥 = 3, 𝑦 = 2 

4. The product [
𝑎 𝑏

−𝑏 𝑎
] [

𝑎 −𝑏
𝑏 𝑎

] is equal to  
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a. [𝑎2 + 𝑏2 0
0 𝑎2 + 𝑏2] 

b. [
(𝑎 + 𝑏)2 0

(𝑎 + 𝑏)2 0
] 

c. [𝑎2 + 𝑏2 0
𝑎2 + 𝑏2 0

] 

d. [
𝑎 0
0 𝑏

] 

5. 𝐴 𝑎𝑛𝑑 𝐵 are square matrices of same order. If (𝐴 + 𝐵)2 =

𝐴2 + 𝐵2, then  

a. 𝐴𝐵 = 𝐵𝐴 

b. 𝐴𝐵 = −𝐵𝐴 

c. 𝐴𝐵 = 0 

d. 𝐵𝐴 = 0 

6. If [
𝑥 + 𝑦 7

9 𝑥 − 𝑦
] =  [

2 7
9 4

], then find 𝑥. 𝑦 . 

7. If 𝐴 = [
1 0
1 1

], then find 𝐴3. 

8. Find 𝐴𝐵, if 𝐴 = [
0 −1
0 2

]  𝑎𝑛𝑑 𝐵 = [
3 5
0 0

] . 

9. Find the value of 𝑥 − 𝑦, if 2 [
1 3
0 𝑥

] + [
𝑦 0
1 2

] = [
5 6
1 8

]. 

10. If 2 [
3 4
5 𝑥

] + [
1 𝑦
0 1

] = [
7 0

10 5
], then find (𝑥 − 𝑦). 

11. Simplify cos 𝜃 [
cos 𝜃 sin 𝜃

− sin 𝜃 cos 𝜃
] + sin 𝜃 [

sin 𝜃 − cos 𝜃
cos 𝜃 sin 𝜃

]. 

12. If [
2 3
5 7

] [
1 −3

−2 4
] = [

−4 6
−9 𝑥

], then write the value of 𝑥 . 
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13. Find a matrix 𝐴 such that 2𝐴 − 3𝐵 + 5𝐶 = 𝑂, where 𝐵 =

[
−2 2 0
3 1 4

]  𝑎𝑛𝑑 𝐶 = [
2 0 −2
7 1 6

]. 

14. If 𝐴 = [
2 0 1
2 1 3
1 −1 0

], then find the value of (𝐴2 − 5𝐴). 

15. If 𝐴 = [
2 0 1
2 1 3
1 −1 0

], then find 𝐴2 − 5𝐴 + 4𝐼 and hence find a 

matrix 𝑋 such that 𝐴2 − 5𝐴 + 4𝐼 + 𝑋 = 𝑂. 

16. If 𝐴 = [
1 −1
2 −1

] , 𝐵 = [
𝑎 1
𝑏 −1

]  𝑎𝑛𝑑 (𝐴 + 𝐵)2 = 𝐴2 + 𝐵2, then 

find the value of 𝑎 and 𝑏 . 

17. If 𝑓(𝛼) =  [
cos 𝛼 − sin 𝛼 0
sin 𝛼 cos 𝛼 0

0 0 1
], prove that 𝑓(𝛼). 𝑓(−𝛽) =

𝑓(𝛼 − 𝛽) . 

18. If 𝐴 = [
1 0 2
0 2 1
2 0 3

] and 𝐴3 − 6𝐴2 + 7𝐴 + 𝑘𝐼3 = 𝑂, then find 

the value of 𝑘 . 

19. Find the value of 𝑦 − 𝑥 from following equation 

2 [
𝑥 5
7 𝑦 − 3

] + [
3 −4
1 2

] = [
7 6

15 14
]. 

20. If matrix 𝐴 = [
3 −3

−3 3
] and 𝐴2 = 𝜆𝐴, then write the value of 

𝜆. 
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